EAGRAROBREERT — 2 N— ABISH —F

2020538140 () 22m{£E4H

*f‘/i'f R C2 ¥5%R4KE (xwlw | mEmml - |5 ) o 8
[A&4£] 17 :400,000 @ ~ 2#&:120,000  ~ 3 #&:40,000H  43#&:24,000™” . 5 3&:16,000 @
E BB BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
R =mEA . —11-10- - AR ()
A RN ERAT AT 7 Bl 1.(3_0),4 10-11-10-5 | 38.7 1 ;1;0) He . B
R:tEr/nJOoq4 B:¥a—-bI TLA HE77— L4
+2 [ii{m}2 :30. —6-6- . = REM (£8)
» 3|/ — b 7 - 1(13/02)5 6-6-6-3 | 38.5 2 (4+638) MEE i
LB/ w74 B:Oq4vYivl— HET77—L
N el : 75— - HEXE (EE)
3lgl11| ¥/ V77 *v "8 56.0 1('13/%)6 M ! (5_157) mi?% S
R:ih—L BT RIAv—H— =% e
I o4 | WTHE 1:30.9 3-4-2-1 [39.1| — 3 447 | FEARAT (ER)
48l10| 71 >/S—Fzx 56.0 (11/2) (cay | (B JPN#EH
R:RU—LTv—=— BNV T1—7 25 885
AN . L2 . 57— - = =
5 7| 7R Y v RIN—0 it 5 ﬁ{(I)T F (11.311/.41) 5-5-7-6 | 39.0 11 (3+836) fgﬁ;ééﬁﬁ)
RHTIFAULEZR BACUTYS T KT —L
e oy = 44 | TTEE 1:31.6 9-10-11-9 | 39.0 | — 6 487 | BENE (EB)
6|5|5|YF/ Ty 56.0 2172 (y) | EHF—
X T—hMNVZXIT—h BITILTAUZR B BB
N - — HKFRA : -9-9- — MEBLF (1£%)
7 NEE DA S PP it 6 Gy (11.311/.:3) 7-9-9-10 | 39.6 10 (z@ja) ome =1
R:F1—-7TTVI>7 B:AFIvE)-X KEHIS
. HhEA . -8-8- = FHAEEAEE (£8)
gl1l1|7V/amauy it 6 54.01_ (17.3;% 11-8-8-7 | 39.6 7 ;1:347) el
L:O—-YX1224 B:Hrty bO—-FK Y]
N = LRL/2 PN 7 -3-4- . — EARBE (£8)
9 2 | FUIRTAIS s 54.0 (11 312/3 aasd A0 8 ?_535) +TEES -
L:XRTY 4 XF— B:OELE TEHS
BERD : -1-1- — ABFER (£8)
N - BEEIZZTEA ] - IR | ae |REEE
RiFkvvH/xEF BFAT—F BAERIS
. S RHEET 132, -0-3— . — hEFE ((£%)
111718 J'j//'jT”f % 5 54.0 (11312/29) e 4 ’ (4_624) BN -
X T—=M VXTI T—h BITILTAUZR B BB
@ 1 —F—&EBlIEfL
13=7r= 6,8,10,2,7,3,4,11,5,9,1
23|=gr= 6,8,2,10,7,3,11,1,4,5,9
BEE 6,10,8,2,11,3,7,1,4,9,5
41—+ — 10,11,3,2,9,7,1,6,5,4,8
[ N3
B O 9 310H 714K 3-9 220M e 3-7 910M 3JEHE 3-9-11 1,060H
8 B 9 130M9 9-11 200M B = 3-9 830M K31 9-3-11 4,140
3 1309 3-11 460 B H 9-3 1,190
1 1909

ARICOVWTRDTEEERROODE. TR LI,




